Maisonette in Msida



Msida, Sliema and St Julians Surroundings



€330,000

Total Rooms: 4

Bathrooms: 1

Floor Area (m²): **73**

Reference No: 240231027-205

P☐ Bedrooms: 1

Maisonette - For Sale - Msida

MSIDA - MAISONETTE situated on the first floor, located close to the University of Malta and all amenities. The layout comprises an open plan Kitchen/Living/Dining area, a Bathroom, 1 Double bedroom leading to the back yard and a Study (being used as a Second Bedroom). The property is being sold fully furnished and ready to move into. Viewings are highly recommended.

Features

- ✓ Kitchen/Dinette
- Entrance Hall
- Gypsum Plastering

- En Suite
- Electricity Utility
- Back Yard

Rooms

Kitchen/Living/Dining: 4.79 x 5.69 m (27.26 m2)

Double Bedroom: 3.67 x 3.25 m (11.93 m2)

Office / Study : 2.33 x 3.67 m (8.55 m2)

✓ Bathroom : 2.37 x 1.33 m (3.15 m2)

✓ Hallway : 1 x 6 m (6 m2)

Open Space : 3.67 x 3.25 m (11.93 m2)

Gallery





















Rimels Muca RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta